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WEST BENGAL STATE UNIVERSITY
B.A. General PART-1 Examinations, 2016

PHILOSOPHY-GENERAL
PAPER-PHIG-I

Time Allotted: 3 Hours 'Full Marks: 100
The figures in the margin indicate full marks. enfe T sE R o A fe #F)
Candidates should answer in their own words _ NSS! I TG [Aed ©I [AE 2R
and adhere to the word limit as practicable. w5y Be67 w61
Group-A
ez

Answer Question No. 1& 2 and any mwo from the rest within 300 words each.

S W@ Y R &vHa Tgw g TR e fer T (¥Te (R- 717 etvara Bgw @ifd e oo e
T A

L. Answer any five questions within two sentences each: 2x5=10
@- =515 2va Tex 2ol 1t AR ey whe:
(a) What is ‘Aprama’ according to Nyaya Philosophy?
T A ey
(b) What is ‘Smriti’ according to Nyaya philosophy?
i i g ey '
(c) Mention the name of a Carvaka Philosopher.

aFew i wRTEa i 39

(d) How many Pramanas’ have been accepted by Carvaka Philosophy and what
are they?

Bidie Wi Foaf et Fige 2R 93 G [ 62

(e) Mention the name of a Navya Naiyayika.
G ) (AR AN SE T
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(f) What is Vaisesika category of ‘Guna’?
iR Ao a o
(g) Who is the founder of Vaisesika philosophy?
I it el 3
(h) What is the VaiSesika category of ‘Dravya’?
weifEs fipo T i [
(i) Define Maya according to Sankara.
IR ACS T IR\ 708 |
() Mention the name of an Advaita Vedanta Philosopher.
GFE SES (IATE W 1w 77

2. Write short answer to any two from the following within 100 words each.

fosferie - 77 efefd Yoo *twa Wy e Tex @

(a) Define ‘Yathartha Anubhava’ according to Nyaya.
TRINCS T TSI IR 7S |

(b) Explain Carvika’s ‘Bhutachaitanyavada’.
S GOUSHRITHR A 341

(c) Classifiy ‘Abhava’ according to Vai$esika Philosophy.
iR i e “weiaw @ R 4 |

(d) Explain the “Vyavaharika Satyata of Jagat according to Advaita Vedanta.

A (FRBACS TSR IRRF oo iy 341

3. Explain the Advaita concept of ‘Brahman’.
WS e TG U 4l I 3R

4. On what grounds Carvika refutes ‘Anumana’ as distinct Pramana.

(P (P L& MR ST SN TOF A 4 FACZA?

IS ‘2o’ PG K1
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Explain the definition of ‘Pratyaksa’ aécording to Nyaya.
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6. Explain the category of ‘Samanya’ according to Vaisesika Philosophy. 15

&
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Answer Question No. 7 and 8 and any two from the rest within 300
words each. :

4R 8 b T T Tee G4 TAB emefeE s (A (-G 71D @td Tea
2ifs% woo *itara Wy We |

7. Answer any five questions within two sentences each. 2x5=10

@~ =5l 2lvaa Ter effof wib e Wy we)

(a) Mention the name of an empiricist philosopher.
GFE SioeroRIn w3 I 4T

(b) Mention the name of a rationalist philosopher.

- e el v I 7

(c) Mention the name of a critical philosopher.

e Rt wiffaca i 3=

(d) What is main theme of parallelism regarding the relation between mind and
body?

(e) ‘I think, therefore I exist’—Who says this?
‘o fout 7, wrow wifil wife'~9 2t @ 3w ¢

(f) What are the main'concepts of Naive Realism?
e AR o1 769 5 R 9

(g) What is idealism?
©OIRAM FICSF A ¢

(h) What is ‘Monad’ accbrding to Leibnitz?
QIESICICE RCREE GRS

(i) What are the different Guna according to John Locke?
T I WO Rfenesh adefe & & o
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() ‘All ideas are innate’ —~-Who says this?
I QIR RGNS’ — I (F Y

8. Answer any fwo questions from the following within 100 words each:
famfRie @-cw 7B Se afe soo M Wy we
(a) What are the main tenets of Entailment theory of Causality?
FIFR T LPTGAR T Ieq e [ 15 9
(b) Explain identity theory as theory of Mind-body relation.
(r2- 3 i wfenerey i 391
(c) Explain substance according to rationalists.

T3 AN ERIRTHR 6] I 79|

(d) Discuss in brief Locke’s representative realism.

(3 Af TR TG FLTHC WEADA I

9. Critically explain Empiricist view of substance.

T FHE SSRORIAHR 7@ REREE A6 391

10.  Critically explain the interactionism as a theory of Mind-body relationship.

(F2-W A% &% - afeferarm e #fivm e F11

11.  Discuss in detail the views of Rationalism as the theory of knowledge.

QIR T LaARTE Tl R ifFeeid S 741

12.  Explain Berkeley’s theory of subjective idealism.

TGS B TN AT OG0 PR T
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